You are the auditor for Sample Slingers Corporation, a publicly traded company in the business of providing staff to hand out merchandise samples at large discount stores like Costco, Sam’s, and Wal-Mart. You have participated in the audit of Sample Slingers for five years. In those five years, you have never seen an accounting adjustment recommended. Taking into consideration the audit risk model and professional standards, would you be reasonable in believing that inherent risk must therefore be zero? Why or why not?
